
4 lebxz - minzixebl`e mipezp ipan2011 xanaepa 20 zn
ew mrtn libxz.n jxe`a L1, ..., Lk zeniyx k befin
n jxe`a zeniyx k befin 1 mzixebl`

input: L1, ..., Lk

out ← array of size nk
H ← empty heap (of pairs)
i1, ...., ik← zeroes array
for i=1 to k:
H.push(Lj [0] , j)
end for
x=0
while H.not empty():
(a, j)←H.pop
out[x]=a
ij = ij + 1
if ij < n:
H.push(Lj [ij] , j)
end if
x = x + 1
end while
return out yetig ivr - mix`pia mivr.ely ipnid urd zzn ohwe ely il`nyd urd zz lkn le
b a`d - yetig ivra llkd
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O (logn)a (a, b) mixtqn zebef zqpkd •
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